
●

● ●
●

●

●

●

●
●

●●
●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●●

●

●

●
●

●

●●
●

●

●

●
● ●

●

●

●

●

●
●

●

●

●

●

●
●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●
●

●

●

●

●● ●

●

●

●

● ●
●●

●

●

●

●
●

●

●

●
●

●

●
●

● ●

●

●

●

●

●
●

●
●

●

●

●●

●

●

● ●
●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

● ●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

● ●
●

●

●
●

●

●

●

●

●

●

●

●
●●

●

●

●

●

●

●

●●
●
●

●

●

●

●

●
●

●

●

●

●

●

●

●
●

●
●

●

●

●

●

●

●

●

●

●

●●

●
●

●

●

●

●

●

●●

●

●

●

● ●

●

●

●

●

●

●

●

●

●
●

●
●

●●
●

●

●
●

●

●
● ● ●

●

●

●

●

●

●

●
●

●

●

●

●

●

●
●

●

●

●

●

●
●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

● ●

●

●

●

●

●

●
●

●

●●
●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●●

●

●
●

●

●

●

●●

●

●

●

●●

●

●

●

●

●
●

●

●●
●●
●

●

●

●

●

●

●

●
●

●
●

−2.0 −1.5 −1.0 −0.5 0.0 0.5 1.0 1.5

−
10

−
5

0
5

10

MA−plot across replicates

M (log−intensity ratio)

A
 (

lo
g−

in
te

ns
ity

 a
ve

ra
ge

)


